EAGRAROBREERT — 2 N— ABISH —F

202057H 148 (K) 7EIFIRI4E

75 7ch (hx@%) Y5%2&

‘ [Riz] ¥ ‘ [REBE] — | & (A) 1600M FHE

[A~&£] 1 7% :1,000,000  ~ 23 :200,000H 37 :150,000 § 4 7% :100,000 @ 5 7 :50,000 M

& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
) P - o — po
1l #nssreo—n 42 gfi_ngﬁi 1.(4_5).1 8-8-7-3 | 40.0 1 474 g%ﬂ% (AcizE)
4o BEYR)—LT 14— © a9 ITT -4
= . st 2 | NEHS 1:45.7 4-4-4-1 |43 — 4 480 |/NEFE (dtimiE)
olzl7|¥Z73F> 753.0 %) () | HIETRES
L:vENTA— B:OSYILTY yiN— [Nl e
> o2 | AllE 1:46.0 6-6-6-1 |41.4| — 5 480 | KINF (eimE)
3 2 JILbE1q 0O 54.0 (11/2) o) dTEET =
I ART—WYF— BTRAZILT XiE SF
SR 4 2 | RAHE 1:46.6 5-4-4-4 | 42.1| — 8 500 | AJIFEHE (LiEE)
N - BN 54.0 & Loy | ) #ET
R:bE—XT—F— BNSFEIZ HET7— L
3 o2 | FEAXRK 1:47.3 3-3-3-4 |43.0| — 2 428 | BHEE (ALiEE)
5/5|5|>av* 54.0 3) -6) W) 7%
:7UF—=v B:IZI9NMTVER INHINAT 7 — L
— # oo | FLEBE 1:48.4 1-1-1-6 | 44.2| — 3 466 | #1EIEF (ILiEiE)
6188 JJ)rF4 0 54.0 (5) (-2) TR =
R:57)—F4 B:7>=ZaA4TI—2 R/ E77— L
NPT G R : —1—1— — EREIESL (AbimE)
700 4| FESb 2 E%0 e e | mes ! ff) SawlE
AT bF—Tr—F— K B:HIITIY Hit A
=y 2o S 4 o2 | BREFE 1:52.3 6-7-8-8 |46.9| — 6 418 | BPEZ (dtimdE)
8 6| 7vE—Tv7 54.0 (24 %) (6) | LEER .
R:drrerX B:NYRRAT Ak —8l
® I —F—@EBIERL
13=7r= 8,4,5,7,3,(2,6),1
20—F— (4,8).5,(3,7),2,6,1
30—7+— (4,8),5,(3,7),2,1,6
A==k — (2,7),1,(3,5),(4,8),6
[ RN
B OB 1 230M 714K 1-7 370M B = 1-7 640M 3ER 1-2-7 1,780H
1 B 1 1309 1-2 430 B H 1-7 940M JEH 1-7-2 5,350
7 180M4 2-7 800M
2 210M

ARICOVWTRDTEEERROODE. TR LI,




